Chapter-2
Worksheet-3

Choose the correct option:

1. cannot declare any religion an official religion.
(a) The executive
(b) The legislature
(c) The judiciary
(d) All of the above

. Indian secularism works to prevent religious domination and

(a) Non-interference
(b) Abolition

(c) Discrimination
(d) Disobediences

. Secularism is a freedom to live by an individual’s religious
and practices.
(a) Habits
(b)Beliefs
(c) Both (a) and (b)
(d)None of these

. The Indian constitution guarantees that are based on the
secular principles.
(a) Fundamental duties
(b) Fundamental Rights
(c) Both (a) and (b)
(d)None of these

. Hitler belonged to:
(a) USA
(b)Russia
(c) India
(d) Germany

State True or False:
6. In India, a Sikh youth does not have to wear a helmet as a mark of respect
to their religion.
7. Indian constitution promotes Hinduism.




8. USA strictly separates itself from religious and does not intervene in the
religious affairs.

9. Indian secularism follows a strategy of interference.

10.The Indian state is not ruled by a religious group.

Answer the following Questions.

11.  When and why did the Indian Constitution intervened in Hindu
religious practices?

12. In which year France passed a law banning students from wearing any
conspicuous religious or political science or symbols?

13. Why it is important to separate religion from the state?

14. Does India have any state religion?

15. How do Indian constitution protect every religion?

16. Why it is important to separate religion from the state?

17. What is freedom to interpret religious teachings differently?

18. What is Indian secularism. Write three points.

19. Mention the two reasons why the separation between religion and
state is important.

20. The Indian State both keeps away from religion as well as intervenes
in religion. This idea can be quite confusing. Discuss this once again
in class using examples from the chapter as well as those that you
might have come up with.




